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NAME: PERIOD: DATE:

Homework Problem Set

Which relations below are functions? Explain how you know.

1. 2. 3.
(1,2, (1,3), 2,3) y=—2x+1
Not o Funrcrion FuncTion
different output €quation of a
1 \alues for e inpt  Non-verticgl line.
ofl AW non -verticx|
Ch2y (1, 3) lines are functions
Functon
* posses vertical
line test
4 5. ~ 6
(1,2, 3,3 (2 3) input | output
Funcrion | S
/| \ 2 2
+~There oue \ ) )
o r‘e,pem-ina — 0 0
INPUt values. 1 0
J Funcrion)
NoT A Funcrion No repeating
Doesn< pass input-values
Nertical line test
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7. Draw two different graphs — one of which is a function while the other is not a function.

Function Not a Function
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Spiral REVIEW—Reading Graphs

Use the graph of f(x) to determine each of the following. Where applicable, use interval
notation.

8. x-intercepts (think... where does it cross X"QXIS'7> y

(-1, 0) (qu O\ CQ;O) //\\//‘

9. y-intercepts (-th\'nk,.. where does it CFoSSj—st'?)

(o1

10. f(-2) = —|

11. The values of x for which f(x) = 0 b\)h.e(\does :OQ
—I)Tlf ) A What (s Yye x-value?
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Spiral REVIEW—Tables, Graphs, and Equations

Source: adapted from The CUNY HSE Curriculum Framework—Math

Four friends used the same taxi service to meet at a
restaurant for dinner. When they arrived at the restaurant,
they compared their cab fare and thought that something
must be wrong. They tried to figure out a rule that the taxi
company used to calculate cost to see who was mischarged.

® Denise’s trip was only 1 mile and her total cost was $4.50.

e Mark said that his trip was 6 miles and his total cost © AllenG/Shutterstock.com
was $12.00.

e Solange’s trip was 3 miles and her total cost was $6.00.

e Jamel’s trip was 8 miles and his total cost was $15.00.

12. Complete the table below for the four passengers.

Passenger Distance Cost Coordinate Point

Denise \ “H“{BO C\)q'S)
(o T13.00 | (0, '
ws | 3| %00 | (3,0)
B 9 15.00 CS)]S)

Mark

Jamel

13. Which fare do you believe is incorrect? Why?

60’(an3e WaS mischou:ged
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14. Use the coordinate points to plot the costs in the graph
at the right. Is there one coordinate that doesn’'t seem to 15

match the others? 19 //
es, the 3 Mies +tor :i /
%00 doesn? seem to G /
line up W/ other points.S ] 7
P / P T 3 / é (31 (o)

15. Use the three coordinates that form a line to determine the

N WeEwnmew

base charge and the fee for each mile traveled.

(6,13 (3,15) Y-y= W\CX~><|)

M= 15-13,_ % Y1273 (x-6) o
iy

8" (D j l&—%x— q
Bose Charge:

eachmile: 8 .50 {jz S_’x "3 f

16. Who was mischarged? What should their charge have been?

Solanﬂe wWas mischanged
Y =§2 (3)+3

Y=4.50+3 =>I[j,=$7. S0 J

l 2 3 406 b 7 &8

Distance
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17. What would it cost for someone to travel 10 miles with this taxi service?

HZQX‘\'S
o
3:%(\05»6 & |& for [Dmiles

tj:: 15+3
gt

18. If it costs someone $9 for their trip, how many miles did they travel? Explain how you got your
answer.

Y
q:‘g—j( 5 \\\jou can travel
(%La =%:x(%> U miles for qu

iiﬂ




